Coupling 95% CL Theo. unc. x* Coefficients

l, —0.014 < i, < 0.004 +0.001 7 Citr Cons Cot + Gty D

d, —0.020 < d, < 0.012 - 9 B, BY, Coy — Gy, Cot — Cy
e —0.040 < ¢__ < 0.006 +0.001 7 By, B, Cp—Co Cu — Ciy
e, —0.009 < &_, < 0.005 — 11 B!, B, BY*, Cu + Gin
Ovv —0.011 < Eyy < 0.042 +0.004 7 Cit, Cony Cit + Cir, D
Cva —0.044 < &y, < 0.027 +0.003 9 BS, BY, Cit, Cur + Crn
- —0.035 < &yy < 0.032 +0.001 6 B;*, BS*, B*, By’

Cl —0.09 < C1 < 0.34 +0.04 7 Ckkl Cm,, C,k + Ck!l D

¢, —0.35 < €, < 0.21 +0.02 9 B, B;, Cy, C,y + G,y

01 —C+6 —017 <6 —C+08, <015 +0.01 A Bf*, B, BI*, By’




